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Lesson 7: The Arabian Oryx

A Read the article on Course Book page 40. Mark the sentences True (T) or False (F).

1 Not many big animals canlivein 5 Oryx was hunted by people on ’
the desert. L horseback. 1

2 Oryx usually stay in a small area. 5 & Wild oryx disappeared in the 1960s. f

3 Forty years ago there were lots = 7 Oryx didn't breed successfully =
of oryx in the Arabian Peninsula. | in zoos. |

4 Some people liked eating oryx. | ,: 8 Hunting oryx is now against the law. i'

Lesson 8: The Aswan Dam

A Study the dictionary definifions. Did you guess the meaning of these

words correctly? Use each word in a sentence of your own.

triumph /traiamf/ noun — a great success, tragedy /tredzady/ noun — 1: a play /
a wonderful result after difficulties. film / story with a very sad end. 2: a
bad failure, a very bad result.

A

C Mark the sentences about the article True (T) or False (F). Read again
and check.

1 The River Nile runs near the town of Aswan. !"
2 The Aswan Dam is 30 years old. i
3 There used to be more water in the Nile in the summer.
4 Hydroelectric power does not create pollution, i"
5

The dam is coming near to the end of its life. |

42 , | Unit.3 The Environment._ - .5 o
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